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Jlga yohsiwl Q
No Limit

@ State the number of real zeros of

the function with the graph shown.

| o] -

I =

1 il Juiadll o 393> byuiS Lol
Akl Jial) Al dddal) lady) s S

easal

Ay *

Resavi
\fz.

-8 [—4

Yy

—40
Y

o1

O3

O 2




No Limit

A | ] -

I =

Which expression below is equal to

(30x> —11x + 15)(5x — 6)"1?

5x—6

O 6x+5

Jlgw palsiwl Q

1 39221 8,4 Wghnall daswill

(gl (s Laa a3
¢(30x% —11x + 15)(5x — 6) 1




No Limit

0| (e 11| @ 8 B ]

@ Simplify (3x)%(2x).

.(3x%)2(2x*) haiu

O 2x*

O 18x*

O 12x*%

O 18x°




No Limit ’ W T-1 E H E

@ Find the product [9 ——2]-[_62 _47] 9
if possible.

O

not possible

Jlgas yolsiul Q

1 OB guoell uyo

~2]. [_62 _47] ) il aagl

Ol ¢




Jlgw palsiwl Q

Noumit’m1-1§¢~§ ‘E
. 156 ginall e Slilasll
@ IfA:[_1 _z]amdB:[0 _3], cuilg )

wazmon o w=[) Faz[} 2]
. 2B — A 1
o5 1
o5 _id
o7 1l
o[, il




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. 1 Olpsie OV ddbs OVslsS plai J>
Determine the solution of the system of Laliy reagal) o aleal) alas Ja aaa
@) equations shown below. x—ytz=0
x—y+z=0 —5x-|—3y—25=—1
[—5x+3y—22=—1 Zx—y+4z=11
2x—y+4z=11
. Y
o da g B}

There is no solution.

Jslall e Sl aac dlla

There are infinitely many solutions.

O (25,3) c

O (0,3,3) d




Jlgw palsiwl Q

Notimit | [ || aubs | 1-1| B % B =
. 1 s Slilie plb J>
@ Determine the ordered pair that is alaill J glat) aaf ey @) el Zoh aas

one of the solutions of the system Yy<5-3xs5y>2x+7
y>2x+7andy<5-—3x.
O (6J _2) a
O (_21 6) b
O (_11 2) .C
O (-1,10) d




NoLimit | [ 11 B B
Jdiall Ga Ay 20

infinitely many solutions

i G s

exactly two solutions

1 sy Ja

exactly one solution

> ap Y

no solution

Determine the number of solutions for

the following system of two

equations:
y=-3x+5
y=3x+5

Jlgw yolysiul

1 gupaiies dabas S¥olse plai J>

f Al Cuilataal PUSHIS PNENRTRYEN

y=-3x+5
y=3x+5




Jlgw palsiwl Q

No Limit m‘ s | 1-1 | H & B =
. 1 glball A1 il Juiad]
@) Write an equation for the graph L el Alud) Juiarlt Alalas s

shown below.
Y
8
6
4
—8—6— Ol 2 4 X
[
—4
—6
—8
e
Oy=—|x—4|+5 a
Oy=—-Ix-2|+4 b
Oy=Ix-2|+4 <
O y=lx+4|-5 d




Jlgw polysiul

Notimit | [ || aubs | 1-1| B % B =
. 1 dalball doxddl > Sang Jlxo
Identify the domain and range for .f(x) = —|x| + 1 dlall gaalls Jlaall 2aa
@ the function f(x) = —|x| + 1.

FROIf(x) 2 1} = sy {Ldad doY) gonn] = Jlaad
Domain = {All real numbers}, Range = {f(x)|f(x) = 1}

FOIf(x) = =1} = 2l {x|x < 1} = Jlaal
Domain = {x|x < 1}, Range = {f(x)|f(x) > —1}

(FOIF(R) < 1} = saally {Asial Y guaa} = Jiaal
Domain = {All real numbers}, Range = {f(x)|f(x) < —1}

o F@IFE) < 1) = sy EEER NS TP g P )
Domain = {All real numbers}, Range = {f(x)|f(x) < 1}




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. 1 51l Lo pgiiue Dolsee
@ Which of the following is the Ol jlal) asdioall dliles & L Laa q,-fl

equation of the line that passes (2,-4) s(4,-9)
through (4,—9) and (2,—-4)?
5
O y==-x+6 a
2
5
@) y=——=x+1 b
2
2 37
- —— - c
Oy 5x+ T
5 37
- _Z - d
O y 2x+ =




Jlgw palsiwl Q

No Limit m‘ s | 1-1 | H & B =
. 1 il ppll JU5 o il Jaso
Determine the rate of change of the veorkad) Jeiaill ) Jama sas
@) graph.
y
-'401
30§
20§
of | 2| 4 | 6 | 8x
Os a
O1 b
O 6 c
O -5 d




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. 1 bzl doleal) duuiyly ddsll Olebladl
@ Find the coordinates of the ahlilly x LAY jgaall g pdalidl aag

x - and y-intercepts of the Aslaall Sl Jhai) By ) jgaal) o
3 2 _
graph for the equation 2y —3x=12
3 2
Y —3X= 12.
O x=18y=-16 a
=12,y =— b
O «x V=3
O x=-18,y=16 c
2
O=x= -3 Y= 12 d




Jlgw palsiwl Q

I =

No Limit

R | o) 11

1 &)l Saeg Jlxe

@ State the domain and range of the ABall (sag Jlaa S

relation.

{2, 3) . 5)
-

(1,2)

- —

{—1,3,5} raally {—2,1,4} :Jlaad
Domain: {-2, 1, 4}, Range: {—1, 3,5}

{—1,2,3,5} :saally {—2,1,4} :Jaal
Domain: {-2, 1, 4}, Range: {—1,2,3,5}

Domain: {-2, 1, 4}, Range: {—2,1,4}

{=2,1,4} 1y {—1,2,3,5} :Jaad)
Domain: {—1,2,3,5}, Range: {—2,1,4}




Jlgw palsiwl Q

Notimit | [ || aubs | 1-1| B % B =
. 1 bl syl o Bilio LS
Write the inequality using interval (580 ey aladiols dlial) cas)
@ notation.
"N I N N e —
| I | | | | | 1 1 1
-2 -1 0 1 2
O (_15,15) a
O [-1.51.5] b
O (_w,_l. 5) U (1.5, w) C
O (-»,-1.5]U[1.5%) N




Jlgw palsiwl Q

I =

No Limit

A | ] -

1 dilball dogs)l SVolee J>

@ Solve the equation =2|5y — 1] = —10 dulad) Ja

-2|5y — 1| = —10.

0o :
6 4
- — b
S 5'5
015 c
4 6
= d
O 5'5




Jlgw yolysiul

Notimit | [ || aubs | 1-1| B % B =
. 1 4l yuleill ball yusill
Which algebraic expression Bl el e Ljpal) uladl) (o
@ represents the verbal expression ¢ 1350 G @Al 4 cpaEl’

“the product of 4 and the

difference of a number and 13”?

4dn

O3

O 4n-13 .
4

O n—13 '

O 4(n-13) 4




No Limit

A | ] -

O 28x-—48y
O —18x+ 48y

O 28x +48y

O —-8x+24y

I =

Simplify the expression.

—2(—-5x+6y) —9(—2x+ 4y)

Jlgw palsiwl Q

1 4zl yuleil byuuys

—2(—5x+6y) —9(—2x+4y)




Jlgw palsiwl Q

I =

No Limit

A | ] -

T4 2 julsd doyd Sl

Dj Evaluate m — (3 — n)? if i€ 1) m — (3 — n)? dad 2l

n=-1and m=12. .m=12 yn=-1

O 4 a
Os b
O -4 c
O -8 d




No Limit

o
®

L—\|1-1 H B

Which number line shows the solution

of the inequality 2n — 3 > 5n — 6?

O g

L1 1 1 1 | |
I S B B R
—6—-5—4-3-2—-1 012 3 456

~ G ———————]
© 6543210123456

O T il
—6-5-4-3-2-10123 456
o~ F—— Gj———_-

I A I I |
T
—6—-5—-4-3-2—-1 01 2 3 45 6

Jlgw palsiwl Q

1 Lily dylall J>

dulial) Ja cpu a\s‘l\hjhso‘q;i
2n-3=>5n-6




